A Bloody Compiler Project

Lexer (Scanner for Lexical Elements)
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fn main(): 1int
{

return 42;
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FN "fn'" "fn' ("fn'")

IDENTIFIER 'main' 'main' ('IDENTIFIER')
LPAREN "(* (" ("(")

©: RPAREN "H" D" ("))
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1.15: IDENTIFIER 'int' "int' ('IDENTIFIER")

2: LBRACE "{" '"{" ('{")
1

2.
-3.11: RETURN 'return' 'return' ('return')

3.14: DECIMAL_LITERAL '42' '42" ('DECIMAL_LITERAL")

2-
.14-3.15: SEMICOLON ";" ";" (";")

4.2: RBRACE '}" "}' ('}")
5.1: EOL '" '" (C'EOI")



foo.abc:1.1-1.3: FN "fn' "fn' ('fn'")

foo.abc:1.4-1.8: IDENTIFIER 'main' 'main' ('IDENTIFIER')
foo.abc:1.8-1.9: LPAREN 'C" "C'" C'(")

foo.abc:1.9-1.10: RPAREN "H" D" ("))

fn main(): int foo.abc:1.10-1.11: COLON ':" '":" (':")

' foo.abc:1.12-1.15: IDENTIFIER '"int' 'int' ('IDENTIFIER')

1 return 42 foo.abc:2.1-2.2: LBRACE '{" "{' ('{")

’ foo.abc:3.5-3.11: RETURN 'return' 'return' ('return')

; foo.abc:3.12-3.14: DECIMAL_LITERAL '42' '42' ('DECIMAL_LITERAL")
foo.abc:3.14-3.15: SEMICOLON ";' ";" (';")
foo.abc:4.1-4.2: RBRACE '}" "}' ('"}")
foo.abc:5.1-5.1: EOI "' '"" ('EOI")
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@ <stdio.hdr>

enum TokenKind

{
BAD_TOKEN,
EOT,
DECIMAL_LITERAL,
PLUS,

s

global token: TokenKind = BAD_TOKEN;
fn getToken(): TokenKind;

// -- lexer implementation

/* TODO */

// -- simple lexer test

fn main(Q)

1
¥

/* TODO */



@ <stdio.hdr>

enum TokenKind

{
BAD_TOKEN,
EOI,
DECIMAL_LITERAL,
PLUS,

s

global token: TokenKind = BAD_TOKEN;
fn getToken(): TokenKind;

//-- lexer implementation

/* TODO */

//-- simple lexer test

fn mainQ)
{
while (getToken() != EOI) {
1t (token == DECIMAL_LITERAL) {
printf("DECIMAL_LITERAL\N");
} else 1if (token == PLUS) {
printf("PLUS\n");
} else 1f (token == BAD_TOKEN) {
printf("BAD_TOKEN\n");
} else {
printf("token not handled! token = %d\n", token);

}



@ <stdio.hdr>

enum TokenKind

{
BAD_TOKEN,
EOI,
DECIMAL_LITERAL,
PLUS,

b

global token: TokenKind = BAD_TOKEN;
fn getToken(): TokenKind;
//-- lexer implementation

fn getToken(): TokenKind

{
1T (token == BAD_TOKEN) {
return token = PLUS;
3
return token = EOI;
¥

//-- simple lexer test

fn mainQ)
{
while (getToken() != EOI) {
1f (token == DECIMAL_LITERAL) {
printf("DECIMAL_LITERAL\Nn™);
} else 1f (token == PLUS) {
printf("PLUS\n");
} else 1f (token == BAD_TOKEN) {
printf("BAD_TOKEN\n");
} else {
printf("token not handled! token = %d\n", token);

}



@ <stdio.hdr>

enum TokenKind

{
BAD_TOKEN,
EOI,
DECIMAL_LITERAL,
PLUS,

s

global token: TokenKind _TOKEN;

fn getToken(): enKind;

//--_kexer implement

/* TODO */

//--"simple lexer te

fn main()
{
while (getToken() != EO
1f (token == DECIMAL_LIT {
printf("DECIMAL_LITERAL\N")3
} else 1if (token PLUS) {
printf("PLUS\n");
} else 1f (token BAD_TOKEN) {
printf("BAD_TOKEN\n");

} else {

global ch: 1int;

fn getToken(): TokenKind

{
while (ch == 0 ||l ch =" " || ch ==
ch = getchar();
3
1t (ch >= '0" & ch <= '9") {
while (ch >= "0" && ch <= '9") {
ch = getchar();
3
return token = DECIMAL_LITERAL;
} else 1f (ch = "+") {
ch = getchar();
return token = PLUS;
} else 1f (ch == EOF) {
return token = EOI;
} else {
ch = getchar();
return token = BAD_TOKEN;
3
¥

'\t'

Il ch == "\n") {

printf("token not handled! token = %d\n", token);
¥




global ch: 1int;

fn getToken(): TokenKind
{
while (ch =0 ||l ch="" 1] ch == "\t" || ch == "\n") {
ch = getchar();
¥
1t (ch >= '0" & ch <= "9") {
while (ch >= '0" && ch <= '9") {
ch = getchar();
¥
return token = DECIMAL_LITERAL;
} else 1f (ch == "+") {
ch = getchar();
return token = PLUS;
} else 1f (ch == EOF) {
return token = EOI;
} else {
ch = getchar();
return token = BAD_TOKEN;




